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TAYLOR & MACLAURIN SERIES REVIEW
NO CALCULATOR
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The Maclaurin series for the function f is given by f(x} = (- . Whatis the value of f(3)?
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Let f be a function having derivatives of all orders for x > f sechthat f{(3} = 2, f13)= -1, f“(3} = 6, and
F43}) = 12. Which of the following is the third-degree Taylor polvaomial for f about x = 37
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Which of the following is the Maclaurin saries for { - },, ?
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What s the coefficient of .xfﬁ i the Tavlor series fow £
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Whﬁi is the sum of the series Z
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9. | Let P{x)=3-3x" + 6 be the fourth-degree Taylor polynomial for the function 1 about x = (1. What s the

value of FO(0)? .
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1L What is the coefficient of + in the Taylor s «_~.- for sin®x about x =07
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13. . The fanction § has derivatives of all orders for all real numbers with {0} = 3, f{lij= 4, f7(8)=2, and

S0 =1, Let g be the function givenby g(x J. Flrydr. What i the third-degree Taylor polyhomial for g
about x = ? 7
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